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HIH : 20214E5 H9H (H) S ZEAZEG AR—Y Ok $5FE KK (50m)
No.30 B 50m /N2 2754 A LL—R R
LK INEERT >
B K 4 B 2E KK B
1 JHE  FEH HEy7FSC /6 3/ 4 33.00 8#k ( 0.62)
2 IRES shik IMHETS C NG 3/ 3 36. 65 5#% ( 0.79)
3 ZAlRF  IE=F SCHz NG 3/ 2 37. 47 5%% ( 0.78)
4 RS AR TIMNBETHIE e 3/ 7 40. 83 ( 0.84)
b e x REE o€ /SS /N6 3/ 6 41. 43 2f% ( 0.73)
6 o BE S S /N 3/ 8 43.72 4%% ( 0.68)
7T R ORE SCHz /N5 2/ 5 44. 06 28% ( 0.62)
8 FH MHE aF/SS /NG 2/ 4 45. 67 L% ( 0.62)
9 HH  BUAT WHEHS C ! 2/ 3 46. 89 2%% ( 0.78)
10 /N IE—BR S S 7IN2 2/ 2 47.80 5#% (0.79)
11 71N i) S S N3 2/ T 48.07 5%% ( 0.90)
12 il EE WA S C NG 1/ 4 1:06. 67 ( 0.90)
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